KMF1 1SO 6020/2

@uum N

LUID SYSTEMS

Siparis Kodu / Ordering Code

| KMF1|50]36|50/AB

ZB + strok |
ZJ + stroke uo
TO

1

A y PJ + stroke

=

Py
RD MM KK
» ]

Cap / Bore Size (mm)

25-32-40-50-60-80-100-160-200
Mil Gapi / Rod Size (mm)

FB n°4 hol

12-18-25-32- etc.
Strok / Stroke (mm)

20 mm - 1500 mm
Baglanti Elemani / Connection Element

25 12 14 24 ¢ 5 40 54 38 27 51 64 6 | 25 | 50 121 114

1/4" M10 x 1,25 45 551 10 35

25 18| 18 30 14 | 5 | 40 | 14" | M14x15 | 45 | 55 10 35 | 54 | 38 |27 /51| 64 | 6 | 25 50 121 114
32 14 16 26 11 5 45 14" | M12x125 @ 45 66 10 3 57 4 33 58 70 12 35 60 @ 137 128
32 18 1 181 30 14 | 5 | 45 | 1/4" | M14x15 | 45 | 66 10 3 |57 | 42 |33 /5 | 70 | 6 3560 | 137 128
32 22 22 34 17 | 5 45 14" Mi6x15 @ 45 | 66 10 36 57 42 33 58 70 12 35 60 @ 137 128
40 18 18 30 14 | - | 60 | 3/8" | M14x15 | 55 | 11 | 10 45 |74 62 |41 /87 | 10 | 6 35|62 | 166 153
40 22 22 34 17 | - 60 38  M6x15 @ 55 | 11 10 45 74 62 41 87 110 12 35 62 166 153
40 28 28 42| 22 | - | 60 | 3/8 | M20x15 | 55 | 11 | 10 45 |74 0 62 |41 187 | 10 |10 35| 62 | 166 153
50 22 22 34 17 | - 75 12" Mi6x15 @ 55 | 14 16 45 76 74 |52 105 130 |7 41 68 @ 176 159
50 28 28 42| 22 | - | 75 | 12" | M20x15 | 55 | 14 | 16 45 | 76 | 74 |52 |105 | 130 | 7 | 41| 68 | 176 159
50 36 36 5 30 - 75 M27 x 2 55 14 | 1p 45 76 74 52 105 130 10 @ 41 68 @ 176 159
63 26 280 42 22 | - | 9 | 12" | M20x15 | 55 | 14 | 16 45 80 | 75 |65 |17 | 142 |7 | 48| 71 185 168
63 36 3 5 30 | - 9 | 1 M27 x 2 55 14 | 16 45 80 8 |65 117 142 10 48 71 = 185 168
63 45 45 60 36 | - | 90 | 12 M33 x 2 55 | 14 | 16 45 | 80 | 88 |65 |17 | 142 |14 | 48 | 71 | 185 168
80 36 3 50 30 - M4 3pn M27 x 2 65 | 18 = 20 50 93 82 8 149 180 5 51 77 | 212 190
80 45 45 60 36 | - | 114 34 M33x 2 65 | 18 | 20 50 | 93| 105 |83 (149 | 180 |9 | 51 | 77 | 212 190
80 56 @ 56 72 50 - 14 g M42 x 2 65 18 20 50 93 105 83 149 180 9 | 51 77 212 190
100 45 45 60 36 - 126 0 34 M33 x 2 69 | 18 | 22 50 [101] 92 |97 [162 | 200 |7 | 57 | 82 225 203
100 56 56 72 50 | - 126 @ 34" M42 x 2 69 18 22 50 (101 125 97 162 200 |7 | 57 82 @ 225 203
100 70 63 8 | 60 | - | 126 | 34" M48 x 2 69 | 18 | 22 50 | 101 125 |97 (162 | 200 |10 | 57 | 82 | 225 203
125 56 56 72/ 50 | - | 164 1" M42 x 2 78 22 22 55 117 105 126 208 @ 240 6 @ 67 8 260 232
125 70 63 8| 60 | - | 164 | " M48 x 2 78 | 2| 2 55 | 117 | 150 [126 (208 | 240 |10 | 57 | 86 | 260 232
125 9 8 108 75 | - 164 1" M64 x 3 78 2 2 55 117 = 150 126 208 @ 240 10 @ 57 86 260 232
160 70 63/ 8 60 | - | 198 | 1" M48 x 2 86 | 26| 25 | 63 (130 125 [155 /253 | 300 |7 | 57 | 86 | 279 245
160 9 8 108 8 - 198 1" M64 x 3 8 | 26 25 63 130 170 155 253 300 7 57 @8 | 279 245
160 110 95| 133 100 | - | 198 | 1 M80 x 3 86 | 26 | 25 | 63 (130 170 |155 /253 | 300 |7 | 57 | 86 | 279 245
200 90 8 108 8 - 240 1"1/4 M64x3 103 £ 33 25 80 165 150 (190 300 350 7 57 @ 98 = 336 299
200 10, 95 133 100 | - | 240 | 1"1/4 M80 x 3 103 | 33| 25 80 (165 210 /190 /300 | 350 7 | 57 | 98 336 299
200 140 112 163 130 = - 240  1"1/4 = M100x3 | 103 « 33 = 25 80 165 210 (190 300 350 |7 57 98 = 336 299

www.rohhman.com ‘ info@rohhman.com





